Best model for HELP J143258.153+332928.198 at z = 1.345 x2=9.12
OPTx2=8.52 IRx?=17.57 threshold (OPT IR)=18.76 [um]

102 . Stellar attenuated
S Stellar unattenuated
. —— Dust emission
1 . ;Lq —— AGN emission
10 i = Model spectrum
: ® Model fluxes
: M oObserved fluxes
10° :
> :
S L .
—_— - e,
x 10 '1‘."1‘”‘/'" shen' :q]
=] . 3 .
o MH"‘YV"“"M . :
1072 .
1073
bad
0—4
2077 3
© 1 =f= (Obs-Mod)/Obs
3 ]
S ]
s ]
o 07
o ]
) ]
2 ]
S ]
f_U—l T T T L |
& 10° 10! 102 103

Observed wavelength [um]

T CIGALE



